N & 0 &k AF & & Al A
20178 & =Z 15 LB
SA AEAXED
M OtMGtD HES TARYELYE(ZELNIYMNLE/NILT Al
Chel: SAZEYE ALY =2 (2 :&A)
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
A XA 0 4,785,193 408,733 4,376,460
= 86,403
Al 4,698,790
OtMotD He|st TADEEN(ZELXNIMNL/XNSLY 33,640 46,020 A 12,380
S Al
SANZELEHE AHY FA 2,600 2,700 A 100
SAZELE ALY 2,600 2,700 A 100
203 YR F=&Hl 2,600 2,700 A 100
03 AHMFAALFAH 2,600 2,700 A 100
= 0l & 2,600 2,700 A 100
OZANZE 2 gRFA 2,600,000& 2,600
SANFHEEE 31,040 43,320 A 12,280
SAFEASENE 31,040 43,320 A 12,280
201 eI 31,040 36,800 A5,760
01 AtRZeldl 27,000 36,800 A 9,800
= Off & 27,000 36,800 A9,800
OEAZHALY Atozd =2 &= X & Hl
125,000& 10 »203| 25,000
OZAZHI ALY AtoZXl& F=2E2 L OHLY
= M 2,000,000& 2,000
02 =524l 4,040 0 4,040
= 0l & 3,040 0 3,040
OEANZHIALS Atoz 2EXHE S Xl 3,040
— XS XAl 200,000 *1CH 200
- sHEEZ 660,000 *1CH 660
—ESF3NHRE = 180, 000& = 1CH 180
— =2, 54l 2,000,000 =1CH 2,000
=313 ( 4,040) 3,040) | ( 1,000)
OEAZHIALS AtoZz 2E XS =X bl ( 4,040) 3,040) | ( 1,000)
— =2, 54l 3,000,000& = 1CH |( 3,000) 2,000) | ( 1,000)
HEst OIS EIN(ZELNYGMNL /NS L T Al 386,246 252,140 134,106
= 86,403
Al 299,843
F0 =& 0233 H ALY 356,246 252,140 104,106
= 86,403
Al 269,843
0t 3ot 1= 11,000 21,000 A 10,000
201 LBt 11,000 21,000 A 10,000
I
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2A: FEAXE
HH: HEE 02 BSI(BELXNIMNL/ANAL AL
ool X0l FTO ISREH A CERE
x s . 0 & o ol Ao -
SA B S (SH) - MEMY - BES =z T BlRE2
201 et 4 9,500 83,600 AT74,100
01 A2l 6,000 73,600 A67,600
= Off & 6,000 73,600 A 67,600
OntS2¢sI| /&3 Ada3sd =4
100,000 20X *33| 6,000
02 =294l 2,000 2,000 0
= 0fl & 2,000 2,000 0
Olts2ts)l NYEREe WERI A
2 RE=S 2,000,000 2,000
03 A2 1,500 8,000 26,500
= Off & 1,500 8,000 A 6,500
OzxF0gs 2 08 223 Nzl
1,500,000& 1,500
202 o4l 1,440 1,440 0
01 =AY 1,440 1,440 0
= Ofl & 1,440 1,440 0
Oontsets2l 8g2 ol
120,000& 1H 128 1,440
203 YR F&H 1,200 0 1,200
03 AHMF=XHRFAH] 1,200 0 1,200
= 0fl & 1,200 0 1,200
OntS2¢sI g2 1,200,000 1,200
206 M= Hl 2,500 0 2,500
01 M=zl 2,500 0 2,500
= 0fl & 2,500 0 2,500
OANEct JtEY At 28 & FHHl 7 2,500
-Z28 ¢ 2,000,000 2,000
— &t 2 500,000& 500
301 LEtBAE 900 2,400 A 1,500
09 AAHIEAZ 900 900 0
= 0fl &F 900 900 0
OAget JtEY AHl 243 150,000 63 900
307  2ztolE 144,000 130,500 13,500
02 SIUBAAMIEX 144,000 130,500 13,500
= 0fl &F 144,000 130,500 13,500
OOt=2tSIl XHl S2AY 135,000
— MQEARS (1) 2,000,000 2004 2 40,000
— SF MG (2EAH) 5,000,000 * 1004 2 50,000
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SN

X

HH: SAS ZER0 FEHAY XNI(ZELXNSML/NILE AL
el EH=X BAS 9B ZAZ ZER0 FUAY EX (69l @
x s > Of &t o8 & & 0 A o ~
SA - B (SH) - HRAY - BAES (ZE o) (3] o) HRE2
[= =] [= ]
201 eI 19,470 7,400 12,070
01 AtR2Zeltl 18,470 7,400 11,070
= Off & 18,470 7,400 11,070
O=At= ZERO =8 UI01Y 82 &9 =&
70,0003 x5H 13| 350
O&=cl &Y I Iz =2
180,000& 7 x123] 15,120
Of=cl &4 =40 E 222 MH
3,000,000& 3,000
03 AI2ZHI 1,000 0 1,000
= 0fl & 1,000 0 1,000
O= A= ZER0O =8 HI01Y 22 2% S
1,000,000& 1,000
203 SR FAH 2,300 2,400 A 100
03 AMFAHLFAH 2,300 2,400 A 100
= Off & 2,300 2,400 A 100
O= A= ZERO =AY Ed35 2=
2,300,000& 2,300
301 LerEAZF 1,000 0 1,000
11 JIEtE& 3 1,000 0 1,000
= Off & 1,000 0 1,000
O= M= ZER0O =8 W01 B2 Al&d=3
1,000,000& 1,000
HE2IZHI (AT A XA D) (IIEH/DIIE) 112,490 79,013 33,477
ol 29| 57,397 49,548 7,849
ol 2| 57,397 49,548 7,849
101 elAd4| 57,397 49,548 7,849
02 JIEt&E = 57,397 49,548 7,849
= 0fl & 54,924 49,548 5,376
OLtS22SI| Y AZEEHAIH elH| 49,956
-0 ((t3) 3,433,910 x 1+ 124 41,207
—tEE 80,000& x1H »12& 960
— XA Ed = 446, 7003 x1H #43] 1,787
— g8 X 155,000 *35/40x1H «12& 1,628
— Az Al 130,000 1H 128 1,560
— HDLE2 4|
3,433,910 *84%*86%+*1/30+1/7*35Al 2t 414
— X2 200,000& x 18 128 2,400
OlIS2SI| dg AMLHEAINH E8= 4,968




SN

B Mmoo Hg (HEAXA ) (IIE/IIE)
el o=z CCR-ED
SA BB () - MM - BAS (X o) ) HRE2
—=04H3 48,400,000& *45/1,000 2,178
—AHLEE 48,400,000 *30.6/1,000 1,482
—CoEIeYEy
1,482,000 x65.5/1,000 98
—188E 48,400,000& *15/1,000 726
—MTHEE 48,400,000& *10/1,000 484
=313 ( 57,397) 54,924) 2,473)
OOI2BED] MY AR Q2 |( 52,121) 49,956) 2,165)
- =0 ((t=3) 42,998,000& |( 42,998) 41,207) 1,791)
— A2 At 700,000 |( 700) 414) 286)
— X222 2,488,000& |( 2,488) 2,400) 88)
OOI2SIS)| ®Y ARMLIH 282 |( 5,276) 4,968) 308)
—=04H3 2,321,000 |( 2,321) 2,178) 143)
—ALE2E 1,565,000& |( 1,565) 1,482) 83)
— Lo RRAYEY 102,000& |( 102) 98) 4)
=1y 773,000 |( 773) 726) 47)
—MTHEE 515,000& |( 515) 484) 31)
=3Hl 55,093 29,465 25,628
Jl2Z&dl 55,093 29,465 25,628
201 2Et29Y| 22,093 12,065 10,028
01 At222lyl 21,600 10,800 10,800
= 0ff &F 21,600 10,800 10,800
OFRMSII23H| 21,600
— 2Bt~ ZH| 40,000 x20YH =122 9,600
— 24l 50,000& x20Y =122 12,000
02 32294l 493 1,265 ANTT2
= 0l &F 493 1,265 NTT2
Od¥2H &ER3 493
—S|H 1,930& x10021 193
— Bt H 300& *1,000H 300
202 Ol 28,800 14,400 14,400
01 =LHOdbI 28,800 14,400 14,400
= 0ff &F 28,800 14,400 14,400
OgRE=XIISAH| 120,000& x20H «12& 28,800
203 YR F=L&Y| 4,200 3,000 1,200
04 2M2IIRF=LH| 4,200 3,000 1,200
= 0ff &F 4,200 3,000 1,200
ORNSIGHRF&Y| 350,000& «12& 4,200




SN

X

FH: NHRES(ATHUXNIAN)(FELXNANL/NALE Al

&2l HWRHHKS (e &

SH-EH. O (AN) - NRANY - B o) ) HDE2
HRLES(ASAXNAB)(ZELXNIGMNL/NSLZAl) 4,230,047 4,230,047
LHEAHH K= 4,230,047 4,230,047
SATHMEESH &3 4,230,047 4,230,047
701 JIEtIIHESEES 4,230,047 4,230,047
01 JIEtIHE =3 4,230,047 4,230,047
= 0ff & 4,230,047 4,230,047

OZANHMEHESH M=3  4,230,047,000& 4,230,047




